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General Instructions :

Read the following instructions carefully and follow them :
(i) This question paper contains 33 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C — questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

(viit) There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

(ix)  Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A
Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16
1. Homologous organs indicate :

(A) Convergent Evolution
(B)  Divergent Evolution
(C) Adaptive Radiation

(D) Natural Selection
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2 guwed (@ ) a9 R & o wfR s
Hqer /erel-aent Tqer § Bt @ (ST Ao A’ qe 7w el @’ ) |
afz Fefter ‘A’ 1 ST 06 #, T AT Aa’ B S BN

A) 021 B) 042

(C) 048 (D) 032

3.  Zuqu 319 hI fggpeclt O H, 9 8 @ :
(A)  UhHHM qAT ITh
(B) UHHYH qAT 3Teh
(C) WfI-HHMIR a0 ITeh
(D)  WfI-HHMR q T

4.  UH ‘IoREd 1S H, THUE (THAR) 3H TR afeyd BT B ¢
(A) TR W9 o 3 fRR W
(B) FIoie T oh 5 TR @
(C) IS o9 o 5 fhIl W
(D) IS TIH o 3 R W

5. fmfafed ® @ oH-a1 fashew AHa Iemactt fovemor & auts 8y7 (fedgri
o= fig) <l geifar & 2

@ O] (B) O@D

© O O O]

6. TSI HI FAEH ¢ :
(A) =l TET TSt

(B) TG G7/%eloT ATt
(C) T T =L

(D) WG FIFT AT
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A population is in genetic equilibrium/Hardy-Weinberg equilibrium for a
gene with 2 alleles (dominant allele is ‘A’ and recessive allele ‘a’). If the
frequency of allele ‘A’ is 0-6, then the frequency of genotype ‘Aa’ is :

A) 021 (B) 042
(C) 048 (D) 032
3. In the double helical structure of DNA molecule, the strands are :
(A) identical and complementary
(B) identical and non-complementary
(C) anti-parallel and complementary
(D) anti-parallel and non-complementary
4, In a ‘transcription unit’, the ‘terminator’ is located towards the :
(A) 3 end of the template strand
(B) 5 end of the template strand
(C) 5 end of the coding strand
(D) 3’ end of the coding strand
5. Which one of the following option denotes mating between relatives in
human pedigree analysis ?
A O] (B) Oé[l
© O D O]
6. The vector for dengue fever is :
(A) Female Aedes mosquito
(B) Female Anopheles mosquito
(C) Male Aedes mosquito
(D) Female Culex mosquito
57/2/2-12 5 VNNV P.T.O.
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ffafaa set # & Be-a o gifia 78t 2 7
A)  FA eI gerElrr  — ek I

(B)  ZTEHISHT TeAicaiRT —  OEEeiE g
(C)  THHE wierg —-  THfes o
(D) EwlHisg — R

8.  UiHietr & forw f=faifaa & 4 feruehl stasaehar 787 st 2
(A)  IfdseR EfFTes (B) &% Hiferal

(C) 3UshTHH (JTSH) (D) TT TS

9. g # Saumn 1 e amrG: 3o BT § Fife Tgg #
(A) TSR S SSHTET IguTaehl i TUETT ST B 7 |
(B)  UTeqecidehl <! T 3UeITehd 21k Bt 2 |
(C) UTCHTTaehi hl TEAT STUETHA A B & |
(D) o< wefat S wefeEt w @rd § |

10. HWE H, fgdiaeh 37esh o1 U 9TeH e U gldl g 94
(A) I8 TR o FAEFR H A Ud &l STl 7 |
(B) I8 UNusa IhT Yok A Hiferd &I 2 |
(C)  YhIY] TEH T¥ LT ¢ |
(D) mfUgesh o UATEH FMT UiHeT (TRGIH TSTeRIT) hl 9o hid & |
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7. Which one of the following pairs is not correctly matched ?
(A)  Clostridium butylicum — Butyric acid
(B)  Trichoderma polysporum — Cyclosporin A
(C)  Monascus purpureus — Citric Acid
(D)  Streptococcus — Streptokinase
8. Which of the following is not required for PCR ?
(A)  Restriction endonuclease (B) Taq Polymerase
(C)  Primer (D) DNA segment
9. The pyramid of biomass in sea is generally inverted because in sea :
(A) Biomass of fishes exceeds that of phytoplankton.
(B) Number of phytoplanktons is more.
(C)  Number of phytoplanktons is less.
(D) Large fishes feed on small fishes.
10. In humans, the secondary oocyte completes meiotic division when :
(A) it gets implanted in the uterine endometrium.
(B) itisreleased from the matured Graafian follicle.
(C) it is penetrated by the sperm cell.
(D) acrosomal enzymes break down the zona pellucida.
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11. Y9 I 6 wel &1 fieam @y 118 e R A= oo w fosed o o o
gufad foshe =1 =@ Fife
&7y I &7y 11
=0 BIHICTET (GoI€Y) ST
1. e Thas (AFIETS5S) o) 1:2:1(Fy)
2. Wee fgme Gi) 1:1
3. QU GwIferdT (Sheelle SIFHH) (i)  3:1(Fy)
4. ThEned HHUT (THER) Gv) 9:3:3:1(Fy
(AETEfe)
fa#ey
(A) 1-(11), 2—(iv), 3—(1), 4—(ii1)
(B) 1-(11), 2—(1), 3—(@1v), 4—(1)
(C) 1-(i11), 2—@1v), 3—(1), 4—(1)
(D) 1-G1), 2—(1), 3—(iv), 4—(ii1)

12. T Tgqsis H HREd &S foeh&d gl & ¢

(A)
(&)

YUThRITT H (B) YOMIN H
yor # (D) e |

Yo7 G&7 13 @ 16 & 078, 51 %97 137 7T & — 574 T &1 3199 (A) T G 1
FRU (R) ZRT 3l 15397 737 8 | 37 o1 & &&1 I} 17 13T 7@ %l (A), (B), (C)

3R (D) & g P |
(A)  FAHAA (A) R HRO (R) GHI H21 & 3R FHR (R), A0FRRAA (A) H
TE] ST Ll 8 |
(B) 3% (A) 3R HRW (R) THI T&l §, Tq SR (R), AHHA (A) Hi
T e TE a7 |
(C) ANRYH (A) & &, Tq SRV (R) T 3 |
(D)  JAHAA (A) TAd 8§, T HRUT (R) ¥l 8 |
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11. Match the items in Column I with those in Column II and select the
correctly matched option from those given below :

Column I Column I
Cross Phenotypic Ratio
1. Mendelian monohybrid (1) 1:2:1(Fy)
2. Mendelian dihybrid ) 1:1
3. Incomplete dominance (i1) 3:1(Fy)
4. Test cross (monohybrid) iv) 9:3:3:1(Fy
Options :

(A 1-G1), 2—(iv), 3—(1), 4-(iii)
(B)  1-ii), 2-(1), 3—(iv), 4-(i)
(C)  1-(ii), 2—-(v), 3-(), 4-(i)
(D) 1-Gi), 2—(i), 3—(iv), 4-(iii)

12. The functional megaspore of an angiosperm develops into :

(A)  Embryo sac (B) Endosperm
(C)  Embryo (D)  Ovule
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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13.-. STYFHIT (A) : GG (JTehTdeh FUGT) o ATdaIe o HRU Sa-fafregdm i &fd
T5d Hhdl B |

FRU(R): VAW A H FRgT 97577 WAl l Ffose HUA b HR
W g 6 wefort it g § weft o T R |

14. 3797 (A) : AR SN 4, gfoaifass SiAT w1 awur-ame fage o &9
o 3w foha ST |
FRU(R): O Toge €U 6l IWUAEH d 9gaH 4 § gH
TRl A @ |

15.  37WHYT (A) : TINTU-Hehita IR STkl I Hidl & |
FRU(R):  3eUhUA fIuTU-Oshitra shIfSeprsti § Sy (IeM) Icqd L Tohd
g |
16. YT (A) : JANTAT AR 2 a7 dig Mid ¥ Icqidfdd & Hehal 8 |

HRI (R) : JRTAT oh TeIoh =feaese H 2 — OH g 1 3ufefd 39
SFErY qen gadn & foufea g are s B |

LCLERC)
17. 3G sl Yoh{d AT 9, T hl G ol [ohd TehR JHTTId Hid & ? 2
18. Ufiaed USHIfdaus &1 Al Ha foham Srar 8 2 weh wgfad 3ggwor i
TERIAT | $Eh! SATE ST | 2
19. (%) HR Aifad HE areft ol gt Ta:muferlt gheat & 9w fafew | w@ @
HRT fARET St 3 IwTE! TGS S0 3 | 2
arera

(@) Yo uredi g foeefaa fohegl @1 afg:uei gheal o AW fofge qen
T hifT foh TOIATOT SRl WcHTRd i § o foh8 TR 98 @ | 2
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13. Assertion (A) : Loss of biodiversity can occur due to overexploitation of
resources.

Reason (R):  Introduction of Clarias gariepinus in Indian rivers has led
to a decline in native Indian fishes.
14. Assertion (A): In genetic engineering, antibiotic genes are used as
selectable markers.
Reason (R):  Selectable markers help us to identify transformants from
non-transformants.
15. Assertion (A) : Virus-infected cells produce interferons.

Reason (R): Interferons can cause inflammation of virus-infected cells.

16. Assertion (A) : RNA is unstable and can mutate at a faster rate.

Reason (R): The presence of 2 — OH group in every nucleotide of RNA
makes it labile and easily degradable.

SECTION B

17. How is the rate of decomposition affected by the nature of detritus and

temperature ? 2

18. How is a restriction endonuclease named ? Explain with the help of a

suitable example. 2

19. (a) Name any two copper releasing intra-uterine devices. State two

reasons that make them effective contraceptives. 2

OR

(b) Name any two outbreeding devices that flowering plants have
developed and explain how they help in encouraging

cross-pollination. 2
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20. Y EHrRIfT qen g HIfve oehar (Fashar o whiften) @ wF T
Heela forehl &, TRt oft, o Sl < Sfaed o Toh-ge | foerm @ | g 3§ 3

fafga | 2

21. fafafea aifer 4 A, B, C @2 D <Al g <hifSe - 2
qTGd o1 ATk Ul EIEC RV ECAGE R TR IC
(a) | 99a¢ GieiBm A JredTeeh (fedwie) /IR & Tt &
T Tt B
(b) | 7T derzar Hferiged B
(c) | YReIsTTETH HIwT C D
QU T

22. WU i BI-hNeh TREINh-TShAT hal Il & | ITiad | el <1 feral i
TR YIRIAT hi TEAT T | T o 0T H Th-Tsh 3arew
fafgu | 3

23. = fau U s U = hl gEEAr @ wuefhai K Afvae Sa-fafauar =

fregur ferm R |
oo
D

() @Rl A%, B, ‘C’ AT D’ ! TEEH H IAh Fel TAM W I gY T

I1E T G0 hHITTT |
(@) fom $o am9 (snghs *e) | faga g9 arelt @ Igsii o 3Se
3eei@ T | 3
57/2/2-12 12 W

.
Qcollegedunlas
India’s largest Student Review Platform



EE

21.

22.

23.

57/2/2-12

Although Haemophilia and sickle cell anemia are two blood related

Mendelian disorders, yet, they differ in their pattern of inheritance. State

any two differences.

Identify A, B, C and D in the following table :

Scientific name of
the plant

Drug

Effect on the human
body/human system

(a)

Papaver
somniferum

A

Depressant/slows down body

function

(b)

Cannabis sativa

Cannabinoids

B

(c)

Erythroxylum coca

C

D

SECTION C

Predation is referred to as a detrimental interaction. Explain any three

positive roles, supported by an example each, that a predator plays in an

ecosystem.

Given below is a pie chart representing global diversity of vertebrates.

(a)

(b)

Fishes

A

Redraw the pie chart identifying the groups ‘A’, ‘B’, ‘C’ and ‘D’ in

their respective positions.

Mention two examples of recently extinct animals. 3

13
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26.

217.

28.

(%) A e R (FEARS $=d fEaid) qen Sifvwepr-amfera gfawen
agfspan & st fawe $ifsm |

(@) Us lcRefl 3T 1 HEEATCHS ARG 1 L §doh Tehral IR HTN i
armifeRa shiferT | 3

(%) TH AYfad 3G hl HgEAl § SNE-fEomar o FHaRor gfiea
(Fe) st Toranfafer <6t samen i | 39 gfaww (Fed) =t 39 R =i
YT 1T 8§ ? 3

AT

(@) J.u\. OriA qen 39 A1l 9 39 WA o U g7@ifeen Aerrieet
W wM T | 9 5 afitomdl @ 9ge 3R 3g@ e TR ey,
+Y | 3

“Ora TRR M (ABO @) i IR SEUEeal a9 H8-yHTear (Hl-SiEEE)
T Teh 31D 3CBW & |7 hed hl ~EETaal g iy | 3

(%) “am fuea (STETE)” ® Fg AW F= e T R ? sHe Wed
fafew |
(@) SHETHA du A AETH A & = favg i | 3

AHE § IehU IUMET o [T Eese T Wa-319] o1 IN@ = fear mn
2|

‘C!
/—

CA’

4D7 <: [ ‘B’
77z 7

(%) 38 S9-319 1 99 fAfge dqun Ieo@ HIfGC Tk a7 Afsha saeen ° 7
aFeran ffssha afaeen 7 |

(@) mrfeRa AT A’ B, ‘C7 AT ‘D’ <ht UgE Shifre | 3
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25.

26.

27.

28.

(a) Differentiate between humoral immune response and cell-mediated

immune response.

(b) Draw a schematic diagram of an antibody molecule and label any

four parts. 3

Explain the mechanism of haplo-diploid pattern of sex determination

with the help of a suitable example. Why is this pattern so called ? 3
OR

T.S. Morgan and his colleagues worked with Drosophila melanogaster for

their experiments. State the findings they arrived at and explain how. 3

“Human blood group (ABO group) inheritance is a good example of

multiple allelism and co-dominance.” Justify the statement. 3

(a) Why is “in vitro fertilization (IVF)” so named ? State its importance.

(b) Distinguish between GIFT and ZIFT. 3

The diagram given below is a biomolecule needed for sugar metabolism in

human beings.

/-C

. o ‘A’
Ty ®
D '<. Y ‘B’
lrzzzzzzzzz7777227

(a) Name this biomolecule and mention whether it is in active state or

inactive state.

(b) Identify the parts marked as ‘A’, ‘B’, ‘C’ and ‘D’. 3
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I G&IT 29 TIT 30 FG-INERT Y97 8 | I 9% 97 & 8 39-Y97 & for8 @ @ 7
37TARF [aheq 1397 7T 8 |

29, fafafad ui=se »i yget = fow v goi & 3w i | 4

1981 H, TYh UsT AT o T HUATAT I HIAE TR, =l
HE qAT BRR AT o HEL hT G H ghg I 9al A1 | T JhR WSl
gR BF 9T U YaEHl HshHUT =Hifafeed =i % e o W e | 3
g T | el H Al §igd &1 g o, 9q “UfReT HeHd Ik A hdi
H fueh s o | 38k HRU Yiawen qF & faen i veae g3 o suifia
TCRE =T FA& (TgH) 1 AW ez T |

1983 #, T T SRR qd1 %id § Hrid fawmfasi 37 ‘Te® & ATwns
%! gg=H i 8 79 gH T SIS IGRITH! IR (TEsTdt) & 91 § JHd
2 | T 399 i o [T ‘THamEd gHa IR W gHAT hid 7g Ueh Haffia a
T FFM F |

(%) WME IR § T B o YA TR T IR TG T ATHAT
AT 8, SHHT AW TARIT | 30 HIEhT H B aredil fofire gitereiett =t

fafey | 1
(@) vugH $I 9ggH A I AgrHe qheer o1 fowqa w9 fafae | %
YR 3 IHH H Iucrey g =R fafaw | 1
() 39 T H B F Uehd & T Ssegquastt (WHO) g geime, 7e. fohegt
T U T I hHifNT | 2
JreE

(M) “vgE @ difed TR 38 AT o FHRO T2 AT 9L TRE 3T HHAU
0T I G Bl 8 |7 YA shl =ARETAd g Hiv | 2
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SECTION D

Questions No. 29 and 30 are case-based questions. Each question has

3 subparts with internal choice in one subpart.

29. Read the following passage and answer the questions that follow. 4

In 1981, the health workers of United States of America had become
aware of the increased frequency of Kaposi’s sarcoma, cancer of the skin
and blood vessels and another disease pneumocystis pneumonia, a
respiratory infection caused by a protozoan. Both these diseases were
very rare in the general population, but occurred frequently in more
severely “immunosuppressed” individuals. This led to the recognition of
the immune system disorder that was named Acquired Immune
Deficiency Syndrome (AIDS).

In 1983, virologists working in the USA and France had identified a
causative agent for ‘AIDS’, now known as Human Immunodeficiency
Virus (HIV). ‘HIV’ follows a set path to attack the human body to cause

the disease.

(a) Name the group of cells the HIV attacks after gaining entry into the

human body and write the various events that occur within this cell. I

(b) Write the expanded form of the diagnostic test used for detecting
AIDS. Write the possible treatment available for the disease at

present. 1

(c) Mention any two steps suggested by WHO for preventing the spread
of this disease. 2

OR

(c) “A patient suffering from AIDS does not die of this disease but from

some other infection.” Justify the statement. 2
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30. freAfRaa sfeag # deet 9 fiu mu yw i & sw i | 4
HHE qAT 31 At Rt | Iehoi Th HEaqUl A oifieh ST § | 39
YshH 1 TH-GF qAT 0 gl 6 9E gRT fRAT oA B | WS § 98
feRRTITereN /ARy § YRY BaT @ a7 ¥aqd Jadl &al 8 | Yoia e | offg
(difeTh) S () IR SEReH (SqHerTR) o faufed & St & |
YIS (TeTTfET) Yhroed Bl gl € | A5 Yghereh Afaehiad i s
T (fufa) W rafta gt & S8t ehoa <1 IhA T BIaT 8 |

(%) g1 § UHUHTE & THR /TR Tt q9n o1g # 36 BRAA & avi

HIT | 2
YT
()  YShSiH TohH H TeTTE <hl Yfeh! 1 vl T | 2
(@) 37 HINEHISAT o AW qAT I 3G TARIT AT oA b gRE =
TShH A & : 1

(i)  gwepd favme e fave
(i) el fovTem I aem relpht favmem 11

(T)  I[Ehoieh ATAhIST T Hifad &9 % IUA IFHIV[ST 1 AN dh o T
aTeft TgEe AfreRrei @ A fafeu | 1

Qs &

31. (%) () Tt e = foorde (amed) e o9 &g @am =& S
MY ? hicIEW A o ITAM g Torell AT ShIRERT i 8
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30. Read the following passage and answer the questions that follow. 4
Spermatogenesis is an important primary sex characteristic in humans
and all other vertebrates. The process is coordinated and controlled
under the influence of hormones. It starts with the onset of puberty in
humans and thereafter continues. The primordial cells within the
embryonic testis which differentiate into spermatogonia are the
precursors of the sperms. These are located at the outer walls of the

seminiferous tubules where the process of spermatogenesis proceeds.

(a) State the site of action of FSH in the testes and describe its action

thereafter. 2

OR
(a) Describe the role of LH in the process of spermatogenesis. 2
(b) Name the cells and their products which undergo : 1

(1) Mitosis and Differentiation

(11) Meiosis I and Meiosis I1

during the process of spermatogenesis.

(c) Name the accessory ducts that the sperms travel through from

seminiferous tubules to reach the epididymis. 1

SECTION E

31. (a) (i) Why should a cell be made competent to take up an alien DNA ?

How can a bacterial cell be made competent using calcium ions ?

Explain. 2
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() (1) J9AENfER § S Agd wU-GEed  (FARITBRIGE) H

Hew fafey |
2) 39 Tagra & =aren hive e a8 dodie s wdl
2l
(3) 3 dbie § sefifeam simTss o1 IUAIT i foham Siar § 2
3Ieeig HifT | 3
AHAYAT

ATATITRd: UG BHA S (Bt) I 1 3091 (I9T) T | U™

fereTI <l Igd HERIdT i 2 |
(i) S (Bt) U o HIY Il TMeTh AN HiH o foQ Sfeidt fra

Yeh I ST TRT 2 SREAT shif | 2
(i) @& (Bt) U™ % Gl Sl @H AT TMcrh MAT HIHAT b T i
feranfafer 1 guia Hifvw | 3

(i) T EqelS § Fiiehll W AR o (A 8 & TR Tg-ueH
Th o kW I RS hIVT qel IAfH IcATG 1 FEUET
(vATSEl) 1 Iooi@ HINT | 39 TehH H FETT IS hl JIHHI

&1 Ui HIRAT | 4
(i)  yordy 1 T yor < o & ugat gan §, a1 ? 1
HAAAT

(i) 39 T Hl Ioai@ HIVT T&l St (A A1) T ASTY] T v=e
gial 3 | 9= UshA i e hifse 3T Ieoig shifo foh 39

WShH B 3Tk ISRV % TS ST hdl Tkl ST B | 3
(i) YOT 1 39 IFEAT 1 W IR TTH Iqept THRE H A0
BT 2 | Sft (Wa 0Ter) | STaTiduT YshH shi STt i | 2
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(i1) (1) State the importance of gel electrophoresis in

biotechnology.
(2) Explain the principle on which this technique works.

(3) Mention why ethidium bromide is used in this technique. 3
OR

(b) ‘Bt cotton’, the genetically modified crop, has greatly helped the

cotton farmers to increase their crop yield.

(1) How was Bt cotton plant made resistant to bollworm ?

Explain. 2

(11) Describe the mechanism that leads to the death of bollworms

feeding on Bt cotton plants. 3

32. (a) (1) Explain the process of double fertilization in an angiosperm
starting from the germination of pollen grains on the stigma,
mentioning the ploidy of the end products formed at the end.

State the role of synergids during the course of the process. 4
(i1) Why does the development of endosperm precede that of the
embryo ? 1
OR

(b) (1) Mention the site where fertilisation of the ovum occurs in a
human female. Explain the process of fertilization and mention

how polyspermy is prevented. 3

(i1) Name the embryonic stage that gets implanted in the uterus.

Explain the process of implantation in a human female. 2
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(i) HSdA % TEaA IR 1 W fofau |

(i) 39 T 6 R WX & 59 o T a1 I hl WY W foafd o
el H g faumgmst S qidi o o= shid/daehr % 3gE g
9 1 ST L FHINT | 5

YT

afeh e S @ % fou Mfey g feew s i s=men
HIT | 3ok vfomraEd 98 m feed | wge 38 fafen | wed,
Fepferetis wd Asharrdl 3 iy & “srafyes wgred” i Sfa-tamfTs
Teh{d I TG (T FHYROT) HE TR ? 5
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33. (a) (i) State Mendel’s law of independent assortment.

(ii)) Explain this law by taking the example of a cross between two
heterozygous parents of pea plants with respect to flower colour

and flower position using Punnett Square. 5
OR

(b) Explain Griffith’s experiment conducted in search of genetic material
and write the conclusion he arrived at. How did Avery, MacLeod and
McCarty establish the biochemical nature of the “Genetic Material”
identified by Griffith ? 5
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